

$$(1) 9 + 13 \times 3 - 42 \div 7 =$$

$$(2) 3 \times 7 - 15 + 45 \div 5 =$$

$$(3) 35 \div 5 \times 7 + 13 - 13 =$$

$$(4) 15 + 6 \times 2 \div 2 - 11 =$$

$$(5) 4 \div 4 + 18 - 4 \times 3 =$$

$$\begin{aligned}(1) \quad 9 + 13 \times 3 - 42 \div 7 &= 9 + 39 - 6 \\ &= 48 - 6 \\ &= 42\end{aligned}$$

$$\begin{aligned}(2) \quad 3 \times 7 - 15 + 45 \div 5 &= 21 - 15 + 9 \\ &= 6 + 9 \\ &= 15\end{aligned}$$

$$\begin{aligned}(3) \quad 35 \div 5 \times 7 + 13 - 13 &= 7 \times 7 + 13 - 13 \\ &= 49 + 13 - 13 \\ &= 62 - 13 \\ &= 49\end{aligned}$$

$$\begin{aligned}(4) \quad 15 + 6 \times 2 \div 2 - 11 &= 15 + 12 \div 2 - 11 \\ &= 15 + 6 - 11 \\ &= 21 - 11 \\ &= 10\end{aligned}$$

$$\begin{aligned}(5) \quad 4 \div 4 + 18 - 4 \times 3 &= 1 + 18 - 12 \\ &= 19 - 12 \\ &= 7\end{aligned}$$